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Two	point	formula	for	equation	of	line

How	to	determine	the	equation	of	a	line	given	two	points.	How	to	find	the	equation	of	a	line	joining	two	points.	Line	between	two	points	formula.	Line	equation	from	2	points	formula.

For	each	of	the	following	problems,	find	the	equation	of	the	line	that	passes	through	the	following	two	points:	\(\left	(	-5,10	\right	)\)\)\)\)	and	\(\left	(	-3,4	\right	)\)\)\)\)\	(\left	(	-5,-26	\right	)\)\)\	This	lesson	will	cover	the	equation	of	the	line,	which	passes	through	two	data	points,	we	say	(x1,	y1)	and	(x2,	y2).	We	call	it	the	two-point	form	of	the	equation	of
a	line.	We	used	the	equation	using	the	tip-slope	shape	of	the	equation.	Suppose	the	slope	of	the	line	is	m.	Then,	since	the	line	passes	through	the	point	(x1,	y1),	the	equation	will	be:	y	–	y1	=	m(x	–	x1)	...	I	But	we	do	not	know	the	value	of	m.	Instead,	we	were	given	another	point	(x2,	y2),	through	which	the	line	passes.	This	means	that	the	coordinates
(x2,	y2)	must	meet	the	above	equation.	We	will	get:	y2	–	y1	=	m(x2	–	x1)	⇒	m	=	(y2	–	y1)/(x2	–	x1)	And	this	is	all	–	we	found	the	slope.	On	replacement	of	this	in	equation	(I),	we	will	get	the	required	equation	as	y	–	y1	=	{(y2	–	y1)/(x2	–	x1)}(x	–	x1)	This	also	tells	me	another	thing	–	the	slope	of	the	line	that	combines	two	points,	(x1,	y1)	and	(x2,	y2)
equal:	(y2	–	y1)/(x2	–	x1)	Have	a	look.	The	slope	of	the	AB	line	is	equal	to	tanθ	or	AC/BC	or	(y2	–	y1)/(x2	–	x1).	This	expression	will	be	quite	useful	as	we	will	see	later.	The	second	method	(i.e.	starting	from	zero)	is	left	for	you	as	exercise.	Here	is	a	simulation	in	which	you	can	observe	the	two-point	form	of	the	equation	of	a	line.	You	can	drag	the	two
points	and	see	how	the	equation	changes.	Also,	try	to	replace	these	coordinates	in	the	equation	we	derived.	Do	you	have	the	same	equation	you	showed	in	the	simulation?	The	equation	of	the	line	that	combines	two	points	(x1,	y1)	and	(x2,	y2)	is	given	by	y	–	y1={(y2	–	y1)/(x2	–	x1)}(x	–	x1).	The	slope	of	the	line	that	combines	two	points	(x1,	y1)	and	(x2,
y2)	is	equal	(y2	–	y1)/(x2	–	x1).	In	the	next	lesson,	I	will	cover	some	examples	of	the	two-point	form.	See	you!	The	two-point	form	of	a	line	in	the	Cartesian	plane	that	passes	through	the	points	and	is	given	by	or	equivalent,	Mathematica	»	The	#1	tool	to	create	demonstrations	and	anything	technical.	Wolfram|Alpha	»	Explore	anything	with	the	first
computational	knowledge	engine.	Wolfram	Demonstrations	Project	»	Explore	thousands	of	free	applications	through	science,	mathematics,	engineering,	technology,	business,	art,	finance,	social	sciences	and	more.	Computerbasedmath.org	»	Join	the	initiative	to	modernize	mathematical	education.	Integral	Calculator	Online	»	Solve	integrals	with
Wolfram|Alpha.	Step-by-step	solutions	»	Walking	through	the	work	problems	at	home	step-by-step	from	start	to	finish.	Tips	help	you	try	the	next	step	on	yourwolfram	problem	generator	»	unlimited	random	practice	problems	and	answers	with	integrated	Step-by-step	solutions.	practice	online	or	make	a	printable	sheet.	wolfram	education	portal	»
collection	of	teaching	and	learning	tools	built	by	wolfram	education	experts:	dynamic	manual,	lesson	plans,	widgets,	interactive	demonstrations	and	more.	wolfram	language	»	Knowledge-based	programming	for	all.	when	a	company	owns	a	asset	that	loses	value	over	time,	it	can	calculate	its	losses	and	include	them	on	a	budget	as	expenses.	three
types	of	activity	lose	value	over	time:	property,	which	includes	everything,	from	buildings	to	machines	and	technology;	natural	resources	such	as	oil	wells;	and	intangible	assets.	amortization	means	loss	of	value	of	intangible	assets	over	time.	There	are	various	ways	of	calculating	the	depreciation,	including	the	straight	line	method.	anything	without
physical	substance	that	generates	capital	for	an	enterprise	or	organization	is	an	immaterial	asset.	Intangible	assets	include	things	like	copyright,	patents,	trade	names,	franchise	rights,	government	licenses	and	good	will.	These	things	lose	value	as	they	expire	or	otherwise	fail	to	produce	reliable	revenue	streams.	Accountants	calculate	amortization	as
a	means	to	spread	the	cost	of	an	immaterial	asset	in	all	years	of	its	useful	duration	and	determine	the	lost	value.	the	straight	method	of	calculation	of	depreciation	in	the	investment	industry	applies	to	bonds.	a	bond	is	a	piece	of	loan.	a	company	sells	bonds	to	collect	large	sums	of	money	from	individual	small	investors.	For	example,	if	a	company	needs
$100,000	in	loans,	it	could	issue	one	hundred	$1,000	bonds.	all	bonds	have	periods	of	maturity.	when	a	bond	reaches	maturity,	its	value	of	the	book	must	be	its	original	value,	which	means	that	the	company	must	pay	all	positive	or	negative	interests	on	a	bond.	the	money	paid	to	ensure	that	a	bond	equal	to	its	book	value	at	the	attainment	of	maturity	is
amortised	funds.	the	right	amortization	method	applied	to	bonds	requires	little	more	than	basic	mathematics.	the	formula	reads	Amortization/Interest	payments	=	(bond	amount	with	interest	-	original	bond	amount)	/	number	of	periods.	hire	a	$1,000	bond	carries	an	actual	value	of	$1,475	and	a	five-year	expiration	period,	and	an	accountant	calculates
depreciation	payments	every	year.	Amortization/Interest	payments	=	(1,475	–	1,000)	/	5;	o,	475/5	=	95.	this	company	must	pay	$95	in	depreciation	every	year	on	the	bond.	in	some	cases,	bonds	lose	value	and	a	company	must	pay	the	debt	until	its	initial	price.	For	example,	a	bond	issued	at	$1,000	could	bring	an	actual	value	of	$935.	in	such	cases,
depreciation	paymentsthat	the	bond	realizes	its	initial	value	at	the	expiry.	The	straight	method	of	depreciation	gets	its	name	from	the	uniform	payments	it	creates.	By	using	this	formula,	accountants	can	develop	a	“safety	line”	of	identical	payments	due	to	measurefor	a	period	of	time.	Although	amortization	of	a	straight	line	applies	to	investment
industry	bonds,	the	method	can	technically	apply	to	any	situation	where	a	person	or	a	company	must	make	uniform	payments	for	a	given	period	of	time.	In	real	estate,	for	example,	mortgage	payments	are	depreciation.	It	is	possible	to	calculate	the	amounts	of	payment	using	the	method	of	amortization	straight	line	if	you	know	the	total	value	of	the
loan	including	interest	and	its	length.	The	mortgage	refund	is	amortization	because	the	bank	loses	its	claim	to	the	loan,	and	thus	loses	an	immaterial	financial	asset.	The	straight	line	through	two	points	will	have	an	equation	in	the	form	\(y	=	mx	+	c\).	We	can	find	the	value	of	\(m\),	the	gradient	of	the	line,	forming	a	triangle	right	with	the	coordinates
of	the	two	points.	Then,	we	can	find	the	\(c\),	l\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	The	final	answer	can	be	verified	by	replacing	the	coordinates	of	the	other	point	in	the	equation.	ExampleFind	the	equation	of	the	line	crossing
points	(−1,	3)	and	(3,	11).	Sketch	the	two	points	and	join	them	with	a	straight	line.	Draw	a	triangle	right	to	show	the	difference	in	\(x\)-coordinates	and	the	difference	in	\(y\)-coordinates.	First,	find	the	line	gradient,	\(m\).	In	the	\(x\	direction),	the	difference	between	3	and	−1	is	3	–	(−1)	=	4.	In	the	\(y\	direction),	the	difference	between	11	and	3	is	11	–
3	=	8.	The	line	gradient	through	points	(−1,	3)	and	(3,	11)	is	given	by	\(\frac{\text\change	in	y}}{\text{c{8}	=c{4}).	This	is	the	value	of	\(m\)	in	the	line	equation,	so	the	equation	will	be	\(y	=	2x	+	c\).	Next,	find	the	value	of	\(c\).	Using	the	\(x\)	and	\(y\)	values	from	point	(3,	11),	replace	the	equation.\[y=2x+c\]\[11	=	2	\time	3+c\]\[11=6+c\]\[c=5\]\
Then	the	line	equation	through	points	(-1,	3)	and	(3,	11)	is	\(y	=	2x	+	5\).	Finally,	check	by	replacing	the	\(x\)-coordinates	of	the	other	point	in	this	equation:\[y=2x+5\]When	\(x=-1\),	\(y=2	\times(-1)+5=	-2+5=3\).	This	gives	the	correct	\(y\)-coordinated	for	the	point	(−1,	3),	so	the	equation	is	correct.	QuestionFind	the	equation	of	the	line	crossing
points	(3,	4)	and	(12,	−2).	The	line	gradient	through	points	(3,	4)	and	(12,	−2)	is	given	by:\(\frac{\text{change	in	y}}{\text{change	in	x}}	=	\frac{-6}{9}	=	-	\frac{2}{3}\).	This	is	the	value	of	\(m\)	in	the	line	equation,	so	the	equation	will	be	\(y	=	-	\frac{2}{3}x	+	c\).	Next,	find	the	value	of	\(c\).	Using	the	\(x\)	and	\(y\)	values	from	point	(3,	4),	replace
the	equation.\	=	-\frac{2}{3}x	+	c\]\[4	=	-\frac{2}{3}	\times	3	+	c\]\[4	=	-2	+	c\]\[c	=	6\]	Thus	the	equation	of	the	line	through	points	(3,	4)	and	(12,	−2)	is	\(y	=	-\frac{2}{3\x	+	6\)Finally,	controlling=	-\frac{2}{3}x	+	6\]\[y	=	-\frac{2}{3}	\times	12	+	6\]\[y	=	-8	+	6\]\[y	=	-2\]\	This	gives	the	correct	\(y\)-coordinated	for	the	point	(12,	−2),	so	the
equation	is	correct.	In	the	last	lesson,	I	showed	you	how	to	get	the	equation	of	a	line	given	a	point	and	a	slope	using	the	formula	Whenever	we	need	to	get	the	equation	of	a	line,	we	need	two	things	at	the	point	a	slope	always!	So,	what	do	we	do	if	we	only	get	two	points	and	there's	no	pendence?	No	problem	--	we	will	only	use	the	two	dots	to	pop	the
slope	using	this	type:	We	discover	the	equation	of	the	line	that	passes	through	the	points	This	is	a	two...	STEP	1:	Find	the	slope	The	two-point	shape	can	be	used	to	express	the	equation	of	a	coordinate	plane	line.	The	equation	of	a	line	can	be	found	through	various	methods	depending	on	the	available	information.	The	two-point	shape	is	one	of	the
methods.	This	is	used	to	find	the	equation	of	a	line	when	two	dots	lying	on	the	line	are	given.	Some	other	important	forms	to	represent	the	equation	of	the	line	are	the	form	of	interception	of	the	slope,	the	form	of	interception,	the	form	of	slope,	etc.	We	understand	the	two-point	module	using	the	formula	and	examples	in	the	following	sections.	What	is
the	two-point	form?	The	two-point	shape	is	one	of	the	important	forms	used	to	represent	a	straight	algebraic	line.	The	equation	of	a	line	represents	each	point	on	the	line,	that	is,	is	satisfied	from	every	point	on	the	line.	The	two-point	form	of	a	line	is	used	to	find	the	equation	of	a	line	given	two	points	(x\(_1\),	y\(_1\))	and	x\(_2\),	y\(_2\)))	on	it.	Equation
of	a	two-point	line	The	two-point	form	of	a	line	that	passes	through	these	two	points	is:	\(y-y_1=	\frac{y_2-y_1}{x_2-x_1}(x-x_1)\)	O	\(y-y_2=	\dfrac{y_2-y_1}{x_2-x_1}(x-x_2_2)_2)(x_2)_2)(x_2)_2)(x_2=	Here,	(x,	y)	represents	any	random	point	on	the	line	and	we	hold	'x'	and	'y'	as	variables.	Formula	for	two	points	The	two-point	formula	is	used	to
represent	an	algebraic	line	using	the	coordinates	of	two	points	found	on	that	line.	The	formula	for	two	points	can	be	indicated	as,	two	points:	Formula	\(y-y_1=	\frac{y_2-y_1}{x_2-x_1}(x-x_1)\)	O	\(y-y_2=	\frac{y_2-y_1}{x_2-x_1}(x-x_2)\)\)	where,	(x,	y)	y	Derivation	of	Two	Point	Formula	We	consider	two	fixed	points	A(x\(_1\),	y\(_1\)	and	B(x\(_2\),	y\
(_2\))	on	the	line	in	a	coordinate	plane.	Suppose	C(x,	y)	is	any	random	point	on	the	line.	Since	A,	B	and	C	are	on	the	same	line:	\(\overleftrightarrow{AC}\)	=	\(\overleftrightarrow{AB}\)	Using	the	slope	formula,	\(\frac{y-y_1}{x-x_1}=	\frac{y_2-y_1}{x_2-x_1}\)We	derived	the	two-point	shape.	It	is	used	to	find	the	equation	of	a	line	that	passes	through
two	points.	We	can	derive	the	other	the	othertwo-point	shape,	which	is,	\(y-y_2=	\dfrac{y_2-y_1}{x_2-x_1}(x-x_2)\)	similarly.	Find	the	line	equation	using	the	two-point	module	As	we	discussed	above,	the	equation	of	a	line	can	be	found	using	two	points	that	are	located	on	that	line.	We	can	follow	the	following	steps	during	the	application	of	the	two-
point	module	to	find	the	straight	line	equation.	Step	1:	Observe	the	coordinates	of	the	two	points	on	the	line	as	(x\(_1\),	y\(_1\))	and	(x\(_2\),	y\(_2\)).	Step	2:	Apply	the	two-point	formula	as,	\(y	-	y_1\)	=\frac{y_2-y_1}{x_2-x_1}(x-x_1)\).	Step	3:	Simplifies	the	equation	obtained	in	the	form,	y	=	mx	+	b	to	represent	the	line.	Important	notes	on	the	two-point
module:	The	two-point	form	of	a	line	can	also	be	written	as:	\(\frac{y-y_{1}}{x-x_{1}}=\frac{y_{2}-y_{1}}{x_{2}-x_{1}}\)	O	\(\frac{y-y_{2}}{x-x_{2}}=\frac{y_{2}-y_{1}}{x_{2}}{x_{2}-x_{2}}{x_{2}}{x_{2}-x_{2}}{x_{2}}}-x_{2}}{x_{2}}{x_{2}}{x_{2}}{x_{2}}}-x_{2}}}-x_{2}}{x_{2}}}-x_{2}}{x_{2}}{x_{2}}{x_{2}}}-y_{2}}{x_{2}}}-
x_{2}}{x_{2}}{x_{2}}{x_{2}}{x_{2}}{x_{2}}}-x_{2}}}-x_{2}}{x_{2	The	equation	of	a	vertical	line	that	passes	through	(a,	b)	is	of	the	form	(x	=	a).	This	is	an	exceptional	case	where	the	two-point	shape	cannot	be	used.	Thinking	about	the	box:	Which	of	the	following	graphs	is	the	equation	y	-	2	=	[(1	-	2)/(-2	-	1)](x	-	1)?	Topics	related	to	two	points:
Euclidean	Distance	Formula	x	e	y	axis	Geometry	Examples	on	two	points	Example	1:	Find	the	equation	of	a	straight	line	that	passes	through	points	A	(1,	2)	and	B	(-1,	3)?	Solution:	The	following	figure	shows	the	line	passing	through	the	points	indicated:	The	two	points	indicated	are:	A(1,	2)	=	(x\(_1\),	y\(_1\));	B(-1,	3)	=	(x\(_2\),	y\(_2\)	Since	we	know
two	points	on	the	line,	we	use	the	two-point	shape	to	find	its	equation.	(y	-	y_1\)	=	\(\frac{y_2-y_1}{x_2-x_1}(x	-	x_1)\)\(y\)	-	2	=	\(\frac{3-2}{1-1}(x-1}(y\)\)\)\)\(y\)	-	2	=\(\(\(\frac{1}{-2}(x-1}(x-1)\)\)\)\)\)\	Multiplicating	both	sides	of	-2,	-2(y	-	2)	=	x	-	1	-2y	+	4	=	x	-	1	x	+	2y	-	5	=	0	Therefore,	the	equation	of	the	line	is,	⌘	x	+	2y	-	5	=	0	Example	2:	Find	the
interception	of	the	line	that	passes	through	points	A	(3,	-2)	and	B	(-1,	3)?	Solution:	The	following	figure	shows	the	line	passing	through	the	points	indicated:	The	two	points	indicated	are:	A(3,	-2)	=	(x\(_1\),	y\(_1\));	B(-1,	3)	=	(x\(_2\),	y\(_2\)	Since	we	know	two	points	on	the	line,	we	use	the	two-point	shape	to	find	its	equation.	(i	-	y_1\)	=	[(y\(_2\)	-	y\
(_1\))/(x\(_2\)	-	x\(_1\)](x	-	x\(_1\))))	y	+	2	=	[(3	+	2)/(-1	-	3)(x	-	3)	y	+	2	=	(5/(-4)))(x	-	3)	Find	the	equation	of	a	straight	line	whose	x-intercept	is	'a'	and	y-intercept	is	'b'.	Solution:	The	indicated	line	passes	through	the	points:	A(a,	0)	=	(x\(_1\),	y\(_1\));	B(0,	b)	=	(x\(_2\),	y\(_2\)))	Since	we	know	two	points	on	the	line,	we	use	the	two-point	form	to	find	its
equation.	y	-	y\(_1\)	=	[(y\(_2\)	-	y\(_1\))/(x\(_2\)	-	x\(_1\)](x	-	x\(_1\))	y	-	0	=	[(b	-	0)/(0	-	a)](x	-	a)	y	=	(b/-a)(x	-	a)(x	-	a))=	b	(x	–	a)	-ay	=	bx	–	ab	bx	+	ay	=	ab	Dividend	both	sides	by	ab,	(x/a)	+	(y/a)	=	1	Then,	the	date	line	equation	is:	âÂ	(x/a)	+	(y/a)	=	1	Note:	This	is	also	called	the	inner-form	of	a	line.	View	Answer	>	go	to	slidego	slidego	slidego	Have
questions	about	basic	mathematical	concepts?	Become	a	problem	solving	champion	using	logic,	not	rules.	Find	out	why	of	mathematics	with	our	certified	experts	Book	a	free	trial	class	FAQs	on	the	two-point	form	The	two-point	form	of	a	line	is	used	to	find	the	equation	of	a	line	with	two	points	\	((x_1,y_1)	\)	and	\	(x_2,y_2)	\)	on	it.	The	form	of	two
points	of	a	line	is:\	(y-y_1=	\dfrac{y_2-y_1}{x_2-x_1}	(x-x_1)	\)	OR	\	(y-y_2=	\dfrac{y_2-y_1}{x_2-x_1}	(x-x_2)	\).	How	do	you	write	an	equation	using	the	two-point	form	with	two	data	points?	We	replace	the	points	in	the	two-point	form	to	find	the	equation.	Data	two	points,	\	((x_1,y_1)	\)	and	\	((x_2,y_2)	\),	we	can	apply	the	two-point	form,	\	(y-y_1=
\dfrac{y_2-y_1}{x_2-x_1}(x-x_1)	\)	OR	\	(y-y_2=	\dfrac{y_2-y_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_1}{x_	How	do	you	find	the	slope	interception	module	from	two	points?	The	two-point	form	of	a	line	is	given	as,	\	(y-
y_1=	\dfrac{y_2-y_1}{x_2-x_1}	(x-x_1)	\)	OR	\	(y-y_2=	\dfrac{y_2-y_1}{x_2-x_1}	(x-x_2)	\).	Replace	the	\	values	((x_1,y_1)	\)	and	\	((x_2,y_2)	\)	and	reorganize	them	to	get	the	shape	of	intercept	of	the	slope,	y	=	mx	+	b.	What	is	the	example	of	a	two-point	form?	The	equation	of	a	straight	with	slope,	m	=	1,	which	passes	by	a	point	\	((x_1,y_1)	\)	=	(-2,	3)
using	the	point-slope	form	is:	\	(y	–	y_1	=	m	(x	–	x_1)	\)	y	–	3	=	1	(x	+	2)	y	=	+	5	How	is	the	Y	intercept	with	two	points	and	slope	using	the	two-point	shape?	We	can	follow	the	steps	below	to	find	the	intercept	y	using	the	two-point	shape.	First,	find	the	equation	of	the	straight	using	the	two-point	form	and	solve	it	for	y.	Compare	it	with	y	=	mx	+	b.
Here,	b	is	the	intercept	y.	How	do	you	find	the	slope	of	a	line	with	two	data	points	using	the	two-point	form?	To	find	the	slope	of	a	straight	with	two	data	points	and	two-point	shape,	first	find	the	equation	of	the	straight	using	the	two-point	shape	and	solve	it	for	y.	Compare	it	with	y	=	mx	+	b.	Here,	I'm	the	straight	slope.	What	is	the	two-point	formula?
The	two-point	formula	of	a	line	is	given	as,	\	(y-y_1=	\dfrac{y_2-y_1}{x_2-x_1}	(x-x_1)	\)	OR	\	(y-y_2=	\dfrac{y_2-y_1}{x_2-x_1}	(x-x_2)	\),	where	\	((x_1,y_1)	How	to	derive	the	two-point	form	of	a	straight	line?	To	obtain	the	two-point	form	of	a	straight,	we	assume	two	points	any	placed	on	the	straight	as	\	(x_1,y_1)	\)	and	\	((x_2,y_2)	\).	Using	the	slope
formula,	\	(\frac{y-y_1}{x-x_1}=	\frac{y_2-y_1}{x_2-x_1}\)	"F'\	(y	–	y_1\)	=	\	(\frac{y_2-y_1}{x_2-x_1}(x-x_1)\derivative	for	the	given	line.	What	is	the	Normal	Shape	and	the	Two-Point	Shape	of	a	Line?	The	normal	shape	of	a	line	is	\	(x	\cos	\alpha+y	\sin	\alpha=p\).	Here	\	(\alfa\)	is	the	angle	formed	by	the	line	with	the	positive	direction	of	the	x-axis	and
\	(p\)	is	the	perpendicular	distance	of	di	line	from	origin.	In	addition,	the	two-point	module	\(x_1,y_1)\)	and	\((x_2,y_2)\)	is	indicated	as	\(y-y_1=	\dfrac{y_2-y_1}{x_2-x_1}(x-x_1)\)	O	\(y_2=	\dfrac{y_2-y_2-x_1	How	is	the	equation	of	one	line	with	one	point	using	the	two-point	module?	We	can't	find	the	equation	of	one	line	with	one	point.	We	need	two
points	that	are	located	on	the	line	to	apply	two	point	shape.	To	find	the	equation	of	a	line	one	of	the	following	information	should	be	available.	Two	points	on	one	line.	One	point	and	the	slope	of	a	line.	A	point	and	an	interception	of	a	line.	Two	interceptions	of	a	line.	How	do	you	decide	if	a	point	is	on	a	line?	Each	point	on	a	line	meets	its	line	equation.
For	example,	to	see	if	(1,	2)	is	located	on	a	line	\(y	=	2x\),	we	replace	\(x=1\)	and	\(y=2\)	in	the	date	equation.	Then	we	get:	2	=	2(1)	or,	2	=	2.	The	equation	is	satisfied	and	then	the	point	(1,	2)	is	located	on	the	y	=	2x.	2x.
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